Scomposizione di polinomi 2 - 2 erenntocie lin

1) Scomponi i seguenti polinomi

x+§xy—1—§y
2 2
1, 1 2 2 9 5,9
X T XY+ —(X—Y) =X+~
3 3xy 9( y) 9 gxy

—5x* - 20y” + 20xy

(x+y)?—(2x-y)’

4x* +16Yy° + 7° +16xy — 4xz - 8yz

a’+4a+4-16x°

Scomposizione di polinomi 2 - 2 erenntocie in
(simulazione di verifica)

1) Scomponi i seguenti polinomi

x+§xy—1—§y
2 2

1, 1 2 , 5, 5
=X =Xyt (X—Y) =X +—
3 3><y 9( y) 5 9xy

-5x% - 20y” + 20xy
(x+y)* - (2x-y)*
4x* +16Yy° + 7° +16xy — 4xz - 8yz

a’+4a+4-16x°

(simulazione di verifica)
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